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1 Introduction
11  Objectives

2 EME 20144 287 ATEQIN JE J|E £=%9| T47} 7i&St Public Transportation

System (PTS)2 Unit Testing Z1t &A{0|LC}.
1.2 References
T4_UTP_verl
2 Unit test case specification
2.1 Test case specification identifier
< Table 5 Test Case Identification-tHHA >
<Table 6 Test Case Identification-X| 5} & >
<Table 7 Test Case Identification-7d 4>
3=
2.2 Test items
< Table 5 Test Case Identification-HH A >
<Table 6 Test Case Identification-X|s}H >
<Table 7 Test Case Identification-7d At>
Hx
2.3 Input specifications
< Table 5 Test Case Identification-HH A >
<Table 6 Test Case Identification-X| 5} H >
<Table 7 Test Case Identification-7d AF>

ES
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24 Output specifications
< Table 5 Test Case Identification-tHHA >
<Table 6 Test Case Identification-X| 5} & >
<Table 7 Test Case Identification-% 4F>
Hx
3 Environmental needs

4 Unit test summary report

4.1 Test summary report identifier
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Table 5 Test case Identification-BHH A

Identifier Input Pass/Fail Criteria
PTS.UTC.1000 Oxm Ef 3IQS Al ©F Ftoo| MAE NMg

PTSUTCI100 | e x| 7ol BiAieo2 B E A2 BRE Ta

PTS.UTC.1200 \ HES AFEX} FFEO| AMAE OpXjato2 Efa S

PTS.UTC.1300 \ HEO ALR A} FFEO| KEE OfX|LOZ B & &Mk HE

PTS.UTC.1400 \ HEQ AP} FFEO| KMAHE A MEZ Mosic
PTS.UTC1400.00 _
PTS.UTC.1500 \ HEO ALK} FFEO| MEE OX|LOZ EjO & CHYY| MEE F
PTS.UTC1500.00 Interfaces= Testing X2
PTS.UTC.1600 SX7t EjOE S A| Ko ¢
8g & A= NEFZE M2 X
S
PTS.UTC1600.00 | LastTagTime userInfoOf X{%&

currentinfod| X%t

transportation
in_out

balance
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terminalinfo

PTS.UTC.2000 Tag MEO|A Q2 F HEME|IE ot = 242 3| E25HLE HZES
shC}.

PTS.UTC.2000.00 | 7#&27+ 2 Unit. EH&3H SpecQ @ QI3f Testing &7} |

PTS.UTC.2100 \ 2 7H0| Axg E;q A2 SH=X|of cqaw caseZ L&
S0 2 Uit Bt speco Aot Tesing £1 1
PTS.UTC.2200 A7M0| 22 3 230 & QIAA & Qo B8 BX0| M2
2t ME/5H
PTS.UTC.2200.00 | State =="case =X}" X% command ==fputa
[=;

Z3 command==printf

PTS.UTC.2300
PTS.UTC.2300.00 | State == “Case S}k}" X% command ==fputa

=3 command ==printf

PTS.UTC.2400

PTS.UTC.2500 =0 CHSH HAHO|E HIofM 2FZ1F X A|Zto] CHst HEE ctat7|(of 7|

M EOjg)o| =asic)

PTS.UTC.1610 X7t EfIOE S Al fX9 &

2 g+ s NANEFZE M2
of =Ch 2|1 320r0t 7|2 T
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PTS.UTC.1610.00

LastTagTime == 777
Transportation ==777

in_out == ???

balance == ???
terminalinfo == ???
c.time != 03:00

struct userlnfo

struct currentInfo

secTime

PTS.UTC.1610.01

PTS.UTC.1620

PTS.UTC.2110

PTS.UTC.2110.00

LastTagTime == 7?77
Transportation == ???

in_out == ???

balance == ???
terminalinfo == ???
c.time == 03:00

=d35iC

—

387|000 A|340| T SX{FIE 0]Qo] MEE #7|&sHs commandZ
t.

B0l X, oHtE T2 A
FOIX

Currentinfo. In_out ==

Of SAHQIX| BFX

AR MEQF SXfA|ZH

Trigger” =J|3}”

Trigger"& XtControl”

PTS.UTC.2110.01

Currentinfo. In_out ==

Trigger"&}XControl”
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PTS.UTC.2210

PTS.UTC.2210.00

Trigger “& XtControl”
Currentinfo. In_out ==
Userinfo.In_Out ==
Userinfo.transportation ==1
Userinfo.terminalinfo[0] !="a’

Currentinfo.lasttagtime — userinfo.lasttagtime < 15

Trigger" gLt 2tz &%t

0|2

Ver.

1.0

PTS.UTC.2210.01

Trigger "&XtControl”
Currentinfo. In_out == 0
UserinfoIn_Out == 0
Userinfo.transportation ==1

Userinfo.terminalinfo[0] =="a’

Trigger"D| H M &2HE"

PTS.UTC.2210.02

Trigger “& XtControl”
Currentinfo. In_out == 0
Userinfo.In_Out == 0
Userinfo.transportation ==0

Userinfo.terminalinfo[0] != ‘&’

Trigger"0| 7 &t& 5"

PTS.UTC.2210.03

Trigger "&XtControl”
Currentinfo. In_out ==
Userinfo.In_Out ==
Userinfo.transportation ==

Userinfo.terminalinfo[0] != ‘&’

Trigger"O| M At &2HS"

Team4
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PTS.UTC.2210.04 | Trigger “&XtControl” Enable"7|2 23"
Currentinfo. In_out == 0
Userinfo.In_Out ==1
Userinfo.transportation ==0
PTS.UTC.2210.05 | Trigger “&XtControl” Enable"7|2 23"

Currentinfo. In_out ==

Userinfo.transportation ==
Userinfo.terminalinfo[0] == 'a’
PTS.UTC.2210.06 | Trigger “&XtControl” Enable"7| & 23"

Currentinfo. In_out ==

Userinfo.In_Out ==
Userinfo.transportation ==1

Userinfo.terminalinfo[0] != ‘&’

Currentinfo.lasttagtime — userinfo.lasttagtime > 15
PTS.UTC.2220 SRS E22

d =

PTS.UTC.2220.00 | Trigger"JAt2t2&2t5" Currentinfo.balance == 0
Currentinfo. In_out == 0
Userinfo.In_Out ==
Userinfo.transportation ==
Userinfo.terminalinfo[0] !="a’
Currentinfo.lasttagtime — userinfo.lasttagtime < 15
PTS.UTC.2230 AFE X7 X|XEFSO|ZLE O|HO| HHAES EFAHLE SHEA|

Zog g HEESHZ MY =Ct

PTS.UTC.2230.01 | Enable"7|2 2" Currentinfo.balance == 1050
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Currentinfo. In_out == 0
UserinfoIn_Out ==1

Userinfo.transportation ==0

PTS.UTC.2230.02

Enable 7|2 2"
Currentinfo. In_out == 0
Userinfo.transportation ==

Userinfo.terminalinfo[0] == ‘a’

Currentinfo.balance == 1050

PTS.UTC.2230.03

PTS.UTC.2240

Enable"7| & 23"
Currentinfo. In_out == 0
UserinfoIn_Out ==1
Userinfo.transportation ==
Userinfo.terminalinfo[0] != ‘a’

Currentinfo.lasttagtime — userinfo.lasttagtime > 15

Currentinfo.balance == 1050

PTS.UTC.2240.00

1=
Trigger"0| M At& =S

Currentinfo. In_out == 0

Userinfo.In_Out ==
Userinfo.transportation ==1

[}

Userinfo.terminalinfo[0] =='a

Currentinfo.balance == 1650

PTS.UTC.2240.01

Trigger"O| M A& Z2HS"
Currentinfo. In_out ==
Userinfo.In_Out ==
Userinfo.transportation ==0

Userinfo.terminalinfo[0] != ‘&’

Currentinfo.balance == 1650

Team4
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PTS.UTC.2240.02

PTS.UTC.2250

Trigger"0| 3 &t&et5"
Currentinfo. In_out == 0
Userinfo.In_Out == 0
Userinfo.transportation ==1

Userinfo.terminalinfo[0] != ‘a’

LS IUS QA [ HmN 2%

2|HE HE SiECh

Currentinfo.balance == 1250

PTS.UTC.2250.00

Currentinfo.balance ==

Userinfo.balance == ???

Userinfo.balance>=500

Trigger"s&"

PTS.UTC.2250.01

Currentinfo.balance == 0

Userinfo.balance == ???

Userinfo.balance<500

Enable" &2 &"

PTS.UTC.2250.02

Currentinfo.balance == 1050

Userinfo.balance == ???

Userinfo.balance>=1050

Trigger"&= 2"

PTS.UTC.2250.03

Currentinfo.balance == 1050

Userinfo.balance == ???

Userinfo.balance<1050

Enable"&2&"

PTS.UTC.2250.04

Currentinfo.balance == 1250

Userinfo.balance == ???

Userinfo.balance>=1250

Trigger"s&"

PTS.UTC.2250.05

Currentinfo.balance == 1250

Userinfo.balance == ???

Userinfo.balance<1250

Enable"&2 ="

PTS.UTC.2250.06

Currentinfo.balance == 1650

Userinfo.balance == ???

Userinfo.balance>=1650

Trigger"&= 2"

PTS.UTC.2250.07

Currentinfo.balance == 1650

Userinfo.balance == ???

Userinfo.balance<1650

Enable"®2 ="

PTS.UTC.2250.08

Currentinfo.balance == 1750

Userinfo.balance == ???

Userinfo.balance>=1750

Trigger"&= 2"
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PTS.UTC.2250.09 | Currentinfo.balance == 1750 Userinfo.balance<1750
Userinfo.balance == ?77? Enable"&2&"
PTS.UTC.2260 QZ™Ee 10| 8

24T AjZHE E2t

PTS.UTC.2260.00 | Trigger'&&" X% Command == fputa
=3 Command == printf

PTS.UTC.2270 x| ZX{2)0] 2O

Yg ML

PTS.UTC.2310 =Xe &

PTS.UTC.2310.00 | Trigger “StXt Control” Trigger"D|2ts Q3 A A"
Currentinfo. In_out == 1
UserinfoIn_Out == 0
Userinfo.transportation ==
Userinfo.terminalinfo[0] =="a’
PTS.UTC.2310.01 | Trigger "S}AtControl” Trigger'gts 23 AL

Currentinfo. In_out ==

Userinfo.In_Out ==

Userinfo.transportation ==
Userinfo.terminalinfo[0] !="a’
Currentinfo.lasttagtime — userinfo.lasttagtime < 30
PTS.UTC.2310.02 | Trigger “S}AtControl” Trigger"2ts @3 A4

Currentinfo. In_out ==1

UserinfoIn_Out == 0
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Userinfo.transportation ==0
Userinfo.terminalinfo[0] !="a’

Currentinfo.lasttagtime — userinfo.lasttagtime <60

PTS.UTC.2310.03

Trigger “S}XtControl”
Currentinfo. In_out == 1
UserinfoIn_Out ==
Userinfo.transportation ==

Userinfo.terminalinfo[0] !="a

Currentinfo.lasttagtime — userinfo.lasttagtime < 90

Trigger'ets 22 A

Al_l_n

PTS.UTC.2310.04

Trigger "8} X}Control”
Currentinfo. In_out ==
Userinfo.In_Out == 0
Userinfo.transportation ==0
Userinfo.terminalinfo[0] !="a’

Currentinfo.lasttagtime — userinfo.lasttagtime < 120

b

rtot
ol
[0
oM

Trigger” A

AI_I_M

PTS.UTC.2310.05

Trigger “S}XtControl”
Currentinfo. In_out == 1
Userinfo.In_Out == 0
Userinfo.transportation ==0

Userinfo.terminalinfo[0] !="a

Currentinfo.lasttagtime — userinfo.lasttagtime < 150

b

riot
ol
fo
o

Trigger”

Akt

AI'"

PTS.UTC.2310.06

Trigger "&XtControl”
Currentinfo. In_out ==
Userinfo.In_Out ==

Userinfo.transportation ==

tot

Trigger'sts 22 A

r

AI_H

—
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PTS.UTC.2320

PTS.UTC2320.00

PTS.UTC.2330

PTS.UTC.2330.00

Userinfo.terminalinfo[0] !="a’

Currentinfo.lasttagtime — userinfo.lasttagtime < 180

Of

S92 B2

rir

=
t2 ol
o

N

Currentinfo. In_ou
Userinfo.In_Out ==
Userinfo.transportation ==0

Userinfo.terminalinfo[0] =="a’

"

g5 2
Currentinfo. In_out =='1
UserinfoIn_Out == 0

Trigger

o[l
X
R

Userinfo.transportation ==

Userinfo.terminalinfo[0] !="a

Currentinfo.lasttagtime — userinfo.lasttagtime < 30

Currentinfo.balance ==
X% Command == fputa

=3 Command == printf

Currentinfo.balance == 0

X% Command == fputa

Z3 Command == printf

PTS.UTC.2330.01

Trigger'sts Q= A4
Currentinfo. In_out ==
Userinfo.In_Out ==
Userinfo.transportation ==0

Userinfo.terminalinfo[0] !="a’

Currentinfo.balance ==100
X% Command == fputa

=3 Command == printf

Team4

25




Ver. 1.0

Currentinfo.lasttagtime — userinfo.lasttagtime <60

c.time

PTS.UTC.2330.02

Trigger'sts Q3 A4
Currentinfo. In_out == 1
Userinfo.In_Out == 0
Userinfo.transportation ==
Userinfo.terminalinfo[0] !="a’
Currentinfo.lasttagtime — userinfo.lasttagtime < 90

c.time

Currentinfo.balance == 200
X% Command == fputa

=3 Command == printf

PTS.UTC.2330.03

Trigger'2ts Ra AL

Currentinfo. In_out ==

Userinfo.In_Out == 0

Userinfo.transportation ==0
Userinfo.terminalinfo[0] !="a’
Currentinfo.lasttagtime — userinfo.lasttagtime < 120

c.time

Currentinfo.balance == 300
X% Command == fputa

=3 Command == printf

PTS.UTC.2330.04

Trigger"gts @a A"
Currentinfo. In_out == 1
UserinfoIn_Out == 0
Userinfo.transportation ==0
Userinfo.terminalinfo[0] !="a’
Currentinfo.lasttagtime — userinfo.lasttagtime < 150

c.time

Currentinfo.balance == 400
X% Command == fputa

=3 Command == printf

PTS.UTC.2330.05

Trigger'sts Q= A4

Currentinfo. In_out ==

Currentinfo.balance == 500

X% Command == fputa

Team4
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Userinfo.In_Out == 0 Z3 Command == printf
Userinfo.transportation ==0
Userinfo.terminalinfo[0] !="a’
Currentinfo.lasttagtime — userinfo.lasttagtime < 180

c.time

Table 6 Test case Identification-X| 5}H

Identifier Input Pass/Fail Criteria
PTS.UTC.1000 °X17f Ef 3t SX FtEo| MZEE My

PTS.UTC.1000.00 HE?} Unit.

PTSUTC1100 | e Afﬂxf ﬂ:ow OIR|Oto = Ef & A[ZH HEE o

PTS.UTC.1200 \ HhO AL A} FFEO| MAE OFX|ZOZ EjT &l mEAC HEEZ FMOHSiCh

PTS.UTC.1300 \ dho ALRX} FHEO| XA E OHX|UOZ Ef1 E S8k HEE MosiCh

PTSUTC1400 | @ AFSX} 7h=0) MAE Fof M

PTSUTC1500 | 22 AMBX} 7h=0f M&E OjX|ofoz Ej1 & THty| HmE MUsich
PTS.UTC1500.00 Interfaces= Testing |2
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Ver. 1.0

M7 BAE HE Al 7X<
Je ABFZE M2 X

PTS.UTC1600.00

PTS.UTC.2000

userinfo0f A%t

currentinfod| X%t

LastTagTime
transportation
in_out
balance

terminalinfo

ol &

2 Z+ZF

Tag H 0 | YRARIE B F 242 B EHNL HYE

SHC}

o)

PTSUTC2100
PTS.UTC.2100.00
PTS.UTC.2200

PTS.UTC.2200.00

PTS.UTC.2300
PTS.UTC.2300.00

S0l 538 =%
2t 2
S0 £X8

2 M35 Y

tAHE F_Xloﬂ [}2}A caseE Lie
¢t Spece 2 Ql8f| Testing &7}
o X=sHoF & AL £ 28
43540}

=

Unit. Bk
e
o
=

gds =

State =="case X% command ==fputa

=3 command==printf

X% command ==fputa

=2

=3 command ==printf

PTS.UTC.2400 X




Ver. 1.0

CsM MRS BhCh

PTS.UTC.2500 ZH0| oieh BFOE Ot 'zt AXf AlZHo] ot 3=

M HOE)0| SHotCt.

PTS.UTC.2500.00 | Interfaces= Testing H|2|

PTS.UTC.1610 SX7t B2 WS
g = e ANHEFRE MR
&=Lt 2|20 3 2060 27|39}

PTS.UTC.1610.00 | LastTagTime == 777

Transportation ==777 struct userInfo

. struct currentIinfo
in_out == ???

balance == 777 secTime
terminalinfo == ???
c.time !'= 03:00

PTS.UTC.1610.01 | LastTagTime == ??? Trigger” Z=J|3t"
Transportation == ???

in_out == ???

balance == ???

terminalinfo == ???
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c.time == 03:00

PTS.UTC.1620 3227|0iCh A|#0] E0 SXFIE 0|9 MEE #7|3l5= commandZ
g2t

PTS.UTC.2110 S| £K} SHXIE H &
Of SAHQIX| SHALRIX] 2

PTS.UTC.2110.00 | Currentinfo. In_out == 0 Trigger"& XtControl”

PTS.UTC.2110.01 Currentinfo. In_out =='1

PTS.UTC.2210

Trigger"s}XtControl”

PTS.UTC.2210.00 | Trigger,"&XtControl” Trigger"O| M 4Atzt5"
Userinfo.In_Out == 0

Currentinfo. In_out ==
Userinfo.terminalinfo[0] == ‘a’
Userinfo.transportation ==
Currentinfo.terminal[0] != ‘a’
PTS.UTC.2210.01 | Trigger,"&XtControl” Trigger" 0| & Atzts"

UserinfoIn_Out == 0

Currentinfo. In_out == 0
Userinfo.terminalinfo[0] != ‘a’

Userinfo.transportation ==0

Currentinfo.terminal[0] !=

Team4 30
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PTS.UTC.2210.02

Trigger,"&X}Control”
Userinfo.In_Out == 0
Currentinfo. In_out == 0
Userinfo.terminalinfo[0] != ‘a’
Userinfo.transportation ==1

Currentinfo.terminal[0] != ‘a’

Trigger"0| g 4t0| gh5”

—

PTS.UTC.2210.03

"nAS

Trigger,"&XtControl”
UserinfoIn_Out == 0
Currentinfo. In_out == 0
Userinfo.terminalinfo[0] == ‘a’
Userinfo.transportation ==

Currentinfo.terminal[0] != ‘a’

Trigger' 7| 222"

PTS.UTC.2210.04

Trigger,"& X}Control”
Userinfo.In_Out == 1
Currentinfo. In_out == 0
Userinfo.terminalinfo[0] != ‘a’
Userinfo.transportation == 1

Currentinfo.terminal[0] != ‘a’

Trigger"7| 222"

PTS.UTC.2210.05

Trigger,"&XtControl”
UserinfoIn_Out == 1
Currentinfo. In_out ==
Userinfo.terminalinfo[0] == 'a’
Userinfo.transportation == 1

Currentinfo.terminal[0] != ‘a’

Trigger' 7| 222"

PTS.UTC.2210.06

Trigger,"&XtControl”

Trigger"' 7| 222"

Team4
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Userinfo.In_Out == 1
Currentinfo. In_out == 0
Userinfo.terminalinfo[0] == ‘a’
Userinfo.transportation == 0
Currentinfo.terminal[0] != ‘a’

Currentinfo.lasttagtime — userinfo.lasttagtime > 15

PTS.UTC.2210.07

PTS.UTC.2220

"nAS

Trigger,"&XtControl”
Userinfo.In_Out ==
Currentinfo. In_out ==
Userinfo.terminalinfo[0] == ‘a
Userinfo.transportation == 0
Currentinfo.terminal[0] != ‘a’
Currentinfo.lasttagtime — userinfo.lasttagtime <= 15

AEXL7E O] 8 Rs 8422 8¢

Trigger" ™ Atzts

PTS.UTC.2220.00

o
A2 AL 2 of g2z HYHE
Trigger 0| & 481"

UserinfoIn_Out == 0

Currentinfo. In_out ==
Userinfo.terminalinfo[0] != ‘&’
Userinfo.transportation ==

Currentinfo.terminal[0] != ‘a’

Currentinfo.balance == 1750

PTS.UTC.2220.01

Trigger, 0| H & 2HS"
Userinfo.In_Out ==
Currentinfo. In_out ==

[

Userinfo.terminalinfo[0] != ‘a

Currentinfo.balance == 1650

Team4
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Userinfo.transportation ==

Currentinfo.terminal[0] != ‘a’

PTS.UTC.2230

o
PTS.UTC.2230.00 | Trigger, 0| AtO|

Userinfo.In_Out == 0

|_¢H

Currentinfo.balance == 1250

Currentinfo. In_out ==
Userinfo.terminalinfo[Q] !=

a
Userinfo.transportation ==1

Currentinfo.terminal[0] !=

PTS.UTC.2240

—

O
PTS.UTC.2240.00 | Trigger"’dAtst

[

UserinfoIn Out ==1

Currentinfo.balance == 0

Currentinfo. In_out == 0
Userinfo.terminalinfo[0] == ‘a’
Userinfo.transportation == 0
Currentinfo.terminal[0] != ‘a’
Currentinfo.lasttagtime — userinfo.lasttagtime <= 15

PTS.UTC.2250 AEXRZE X Z=ESO[ALE OO HAS AL gsA[ZH0]

ZUS [t FHES2 MIYYELL

PTS.UTC.2250.00 | Enable"7| 282 Z" Currentinfo.balance == 1050
Userinfo.In_Out == 0
Currentinfo. In_out ==

1

Userinfo.terminalinfo[0] == '

Team4 33



Ver. 1.0

Userinfo.transportation ==0
Currentinfo.terminal[0] != ‘a’
PTS.UTC.2250.01 | Enable “7|E22&" Currentinfo.balance == 1050
Userinfo.In_Out == 1

Currentinfo. In_out == 0

1

Userinfo.terminalinfo[0] != ‘a
Userinfo.transportation ==

Currentinfo.terminal[0] != ‘a’
PTS.UTC.2250.02 | Enable"7| 22 Z" Currentinfo.balance == 1050
UserinfoIn_Out ==1

Currentinfo. In_out ==
Userinfo.terminalinfo[0] == ‘a’
Userinfo.transportation == 1
Currentinfo.terminal[0] != ‘a’
PTS.UTC.2250.03 | Enable"7| 222" Currentinfo.balance == 1050
Userinfo.In_Out == 1

Currentinfo. In_out == 0

Userinfo.terminalinfo[0] == ‘a’
=0

Userinfo.transportation

Currentinfo.terminal[0] != ‘a’

Currentinfo.lasttagtime — userinfo.lasttagtime > 15

PTS.UTC.2260 g2 s%S 7AQ T Husiy 2525 OfF
2|HE =Lt

PTS.UTC.2260.00 | Currentinfo.balance == 0 Money = Currentinfo.balance + 600
Userinfo.balance == 7?7 Userinfo.balance <Money
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Enable/ &2 =",
PTS.UTC.2260.01 | Currentinfo.balance == 0 Money = Currentinfo.balance + 600
Userinfo.balance == 7?7 Userinfo.balance>=Money

Trigger' S &,

PTS.UTC.2260.02 | Currentinfo.balance != 0 Money = Currentinfo.balance + 200
Userinfo.balance == 77? Userinfo.balance>=Money

Trigger'=&",

PTS.UTC.2260.03 | Currentinfo.balance == 1050 Money = Currentinfo.balance + 200

Userinfo.balance == 77? Userinfo.balance<Money

Enable/ &=,

PTS.UTC.2270

NP
PTS.UTC.2270.00 Trlgger, =8 1” Command == fputa
PTS.UTC.2280 HZE SN2 Xl HYS XML
Enable. "&£ &" =3 Command == pritntf
PTS.UTC.2310 AFE X7 SHAFEROE *}ME Al 2t5E SIY=X| o S =X o0 CHst
EZAHE S Z2 M A0 H&S3|FCE
PTS.UTC.2310.00 | Trigger "S}X} Control” Trigger"0|2ts Q Z A A

Currentinfo. In_out ==1
UserinfoIn_Out == 0
Userinfo.transportation ==1

Userinfo.terminalinfo[0] !="a’

Currentinfo.terminalinfo[0] != ‘a’
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PTS.UTC.2310.01

PTS.UTC.2320

Trigger "} Xt Control”
Currentinfo. In_out == 1
UserinfoIn_Out == 0
Userinfo.transportation ==1
Userinfo.terminalinfo[0] =="a’

Currentinfo.terminalinfo[0] != ‘a’

o [ )
Trigger"0|2tE QA A"

PTS.UTC.2320.00 userinfo.terminalinfo[0] == 'b' Q&
Currentinfo. In_out == 1 currentinfo.terminalinfo[0] == 'b" |
UserinfoIn_Out == 0 (userinfo.terminalinfo[0] == 'c' &
Userinfo.transportation ==1 currentinfo.terminalinfo[0] == 'c')
Userinfo.terminalinfo[0] !="a’ [| (userinfo.terminalinfo[0] == 'd' Q&
Currentinfo.terminalinfo[0] != ‘a’ currentinfo.terminalinfo[0] == 'd")
c.time [| (userinfo.terminalinfo[0] == e &&
currentinfo.terminalinfo[0] == 'e")
[| (userinfo.terminalinfo[0] == 'f! &&
currentinfo.terminalinfo[0] == 'f'
Currentinfo.balance == 0
X% Command == fputa
=3 Command == printf
PTS.UTC.2320.01 | Trigger'O|2ts Q2 A At userinfo.terminalinfo[0] == b' &

Currentinfo. In_out == 1

Userinfo.In_Out ==

(currentinfo.terminalinfo[0] == 'f

|| currentinfo.terminalinfo[0] == 'c))
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Userinfo.transportation ==1 [| (userinfo.terminalinfo[0] == 'c' Q&
Userinfo.terminalinfo[0] !="a’ (currentinfo.terminalinfo[0] == 'b'
Currentinfo.terminalinfo[0] != ‘a’ || currentinfo.terminalinfo[0] == 'd")
ctime || (userinfo.terminalinfo[O] == 'd' &&
(currentinfo.terminalinfo[0] == 'c'
|| currentinfo.terminalinfo[0] == 'e")
I (userinfo.terminalinfo[0] == ‘e’ &&
(currentinfo.terminalinfo[0] == 'd'
|| currentinfo.terminalinfo[0] == 'f'))
I (userinfo.terminalinfo[0] == 'f! Q&
(currentinfo.terminalinfo[0] == 'e'
|| currentinfo.terminalinfo[0] == 'b'
Currentinfo.balance ==
X% Command == fputa
=3 Command == printf
PTS.UTC.2320.02 | Trigger"0|2ts QA A" userinfo.terminalinfo[0] == b’ &
Currentinfo. In_out =='1 (currentinfo.terminalinfo[0] == 'd'
Userinfo.In_Out == 0 || currentinfo.terminalinfo[0] == 'e")
Userinfo.transportation ==1 [| (userinfo.terminalinfo[0] == 'c' Q&
Userinfo.terminalinfo[0] !="a’ (currentinfo.terminalinfo[0] == '€’
Currentinfo.terminalinfo[0] != ‘a’ || currentinfo.terminalinfo[0] == 'f))
ctime I (userinfo.terminalinfo[0] == 'd' Q&
(currentinfo.terminalinfo[0] == 'f'
|| currentinfo.terminalinfo[0] == 'b")
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PTS.UTC.2330

|| (userinfo.terminalinfo[0] = e &&

1
[¢]

(currentinfo.terminalinfo[0] == 'b’
|| currentinfo.terminalinfo[0] == 'c")

|| (userinfo.terminalinfo[0] = I

(currentinfo.terminalinfo[0] == 'c’

|| currentinfo.terminalinfo[0] == 'd")

Currentinfo.balance == 200

X% Command == fputa

=3 Command == printf

PTS.UTC.2330.00

A
Enable 2tE Q= A A"

Currentinfo. In_out == 1
Userinfo.In_Out == 0
Userinfo.transportation ==1
Userinfo.terminalinfo[0] =="a’
Currentinfo.terminalinfo[0] != ‘a’

c.time

(c =="'b" && currentinfo.terminalinfo[0] == 'b")
(c == "¢’ && currentinfo.terminalinfo[0] == 'c)

|| (c == 'd" && currentinfo.terminalinfo[0] == 'd")
(c =='e' && currentinfo.terminalinfo[0] == "e')
(

|| (c =="f" && currentinfo.terminalinfo[0] == 'f

Currentinfo.balance == 0

X% Command == fputa

=3 Command == printf
PTS.UTC.2330.01 | Enable,/ "2t QA A" (c == "b" && (currentinfo.terminalinfo[0] == 'c' ||
Currentinfo. In_out == currentinfo.terminalinfo[0] == 'f'))
Userinfo.In_Out == || (c == "' && (currentinfo.terminalinfo[0] == 'd'
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Userinfo.transportation ==1
Userinfo.terminalinfo[0] =="a’
Currentinfo.terminalinfo[0] != ‘a’

c.time

|| currentinfo.terminalinfo[0] == 'b")

|| (c == 'd" && (currentinfo.terminalinfo[0] == "€’
|| currentinfo.terminalinfo[0] == 'c")

|| (c =="e" && (currentinfo.terminalinfo[0] == 'f'
|| currentinfo.terminalinfo[0] == 'd")

|| (c =="f" && (currentinfo.terminalinfo[0] == 'b'
|| currentinfo.terminalinfo[0] == '€’

Currentinfo.balance == 300

X% Command == fputa

=3 Command == printf
PTS.UTC.2330.02 | Enable/sts @2 A A c == 'b' && (currentinfo.terminalinfo[0] == 'd" ||
Currentinfo. In_out == currentinfo.terminalinfo[0] == 'e')
UserinfoIn_Out == 0 || (c == 'c' && (currentinfo.terminalinfo[0] == '€’
Userinfo.transportation ==1 || currentinfo.terminalinfo[0] == 'f"))
Userinfo.terminalinfo[0] =="a’ || (c == 'd" && (currentinfo.terminalinfo[0] == 'f
Currentinfo.terminalinfo[0] != ‘a’ || currentinfo.terminalinfo[0] == 'b")
ctime || (c == "e" && (currentinfo.terminalinfo[0] == 'b'
|| currentinfo.terminalinfo[0] == 'c")
|| (c =="'f" && (currentinfo.terminalinfo[0] == 'c’
|| currentinfo.terminalinfo[0] == 'd'

Currentinfo.balance == 600
X% Command == fputa

=3 Command == printf
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Table 7 Test case Identification-7d 4t

Identifier Input Pass/Fail Criteria H| 1
PTS.UTC.1000 LYI0MEH HEE YHLOL N

PTS.UTC.1000 Subway data Input, Bus data Input Save(EF 7| ZF|H &) ]

PTS.UTC.2000 CHOED| AXREEOA ™A Q3 MEZE 239t N
MHEE B F HME FUS 24 slAtel =UD, 3
E“OH = otC}.

-I X

PTS.UTC1100.00 Subway data Input Save(EtZ7| ZXN™E) _

PTS.UTC.1200 H{AO| CO|E{2 Q|2 HiofM MBS Mas| Z=C}
S| 2R I
PTS.UTC.2100 Z=ZH0| &X}E St=X| SIKE SF=X|0| [C2FA case2

L=t
Case %, Case I
PTS.UTC.2200 A7H0| AX}% 6H%

9I —’—|501| [EfEf

sy — | =]
ST T
-E— P =73t

PTS.UTC.2300 =7ZH0| S

—1

2ol %

PTS.UTC.2110 SHS A, SiY HE
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FE 9=t AZItt

PTS.UTC.2120 Mt HABIAZ NS

PTS.UTC2120.00 Enable, Disable Save, Print
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